Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

2.4685 x 10° 1.9354 x 102
3.9403 = 10 6.1809 ~ 1072
7.0563 x 10~ 4.2982 +10°
2.3158 + 107" 5.7338 = 10!
5.8176 10! 9.6238 + 10°
7.8894 = 102 4.3778 x 1073
7.9449 + 102 7.4338 = 1072
1.1522 = 10° 1.9744 =107
8.1991 x 10° 7.4074 < 10?
8.3353 x 10! 6.881 x 10!
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Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

2.4685 x 10°
2.4685
3.9403 10
0.0039403
7.0563 x 107!
0.70563
2.3158 + 107"
23.158
5.8176 +107!
58.176
7.8894 = 107
0.078894
7.9449 +~ 102
794.49
1.1522 = 10°
1.1522
8.1991 x 10V
8.1991
8.3353 x 10!
83.353

1.9354 x 1072
0.019354
6.1809 + 1072
618.09
4.2982 =+ 10V
4.2982
5.7338 = 10!
0.57338
9.6238 +~ 10°
9.6238
4.3778 x 1073
0.0043778
7.4338 1072
743.38
1.9744 = 10?
0.019744
7.4074 = 10?
0.074074
6.881 x 10!
68.81
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